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L o of food
a. 37 since the nmn used alternate wording for pY2)® nknv, MYV varies from standard n1a
i.  Proof: "nv —uses nyyn XY and My»v is different
b. Reasoning: for extending variation to nx»1>:
i.  59x877 qwx 538 food that comes from other food (not an olive tree, e.g.)
1. Therefore: not 1 — requires NV’NY, not NY1Pa 12 — must be torn out of uterus
a. Nor: large egg (of a 2191 11) — 11N noan, nor small egg (bird egg)...?
2. Rather: 938 7WR Y2X - food that can be digested in 1 gulp — estimated to chicken egg
c.  Tangents: re: size of MYV
i. Ruling of "1 eating a nRYN 2vn in our day, write how much, perhaps 11 n’a will enlarge Myw
1. Assumption: enlarge=expand obligation by making 71»>® smaller
a. Challenge: v. 3 — must be an act that, if he knew, he would have avoided
b.  Rather: enlarge=make n>1»*w bigger (and exonerate him)
ii. prY 7 DNYW of punishments are n”non (or re-established by [11p 12 YRy pay’ 5w W7 N21)
I. v of drinking — % ®on (subjective — full mouth)
a. snmpw: enough that if he pushed it all to one cheek, it would look full — yan% ®5na (X" Dwa MY )
b.  x7712 w1 - Y17, 1”2 - vAnd RYN; 2”1 — enough to swallow
i. Challenge: if we interpret 0”1 as Xon3, N"2=R" DW2 NI "7
1. Answer:difference — “tight” vanb R9n (0”2 requires a “full” cheek)
ii. Challenge: n"a then require less than n’»a7 — should be listed among "1 '5p
1. Answer: question behind ®n»11 asked regarding a giant (»nan> &9n larger than n»ya)
II. Parametric questions regarding prohibition of eating/drinking
a. Amount: for eating is standardized: noan namas — brings some satisfaction, any food, any person
i. Satisfaction: only provided if eaten ©19 n%aR »131 (not slower)
ii. Challenge: even n»n nkmv - which requires v19 *xn (over 2 n¥’2) must be within v1a n% a8 »12
1. Answer: ) NRMV is 13277 (v. 5 is an RNonOR); they were lenient
b. Amount: for drinking is subjective: yan> R9n3 — that’s how much each person needs to get some sating
IV. oww 8 — combining foodstuffs to achieve noan namn
a. Meat and...: salt on it combine to a nam3 (since that’s how people normally eat)
b.  Vegetables and...: sauce combine; even though the sauce is a liquid, food enhancer::food
c.  Non-mb»ax: noxr n9aR isn’t culpable for 3"nv (v. 1) or nmn (pays capital, no fine — v. 6)
i. Chewing on food (e.g. barley grains): isn’t culpable for nmn (pays capital, no fine - v. 6)
ii. If: A ate nmIn and vomited it and B re-ate it, A is wmm 1992 270 and B is 270 to A as per fuel
1. Reason: A became owner when he ate it, it’s no longer fit for consumption
d. Eating and drinking: don’t combine
i. 571 K7on 7. this is YW1 '7’s opinion; 0NN say they combine
ii. v *37 02 77 even 11313, who disagree re: nrmv,
1. Agree: that small amt. of food and small amt. of liquid bring no significant satisfaction
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